BORB'S Corenhagen Upholstered Headboard & Footboard ~ °*« /27231
DISCOUNT Model #2420-330 Twin e Model #2420-460 Full ¢ Model #2420-500 Queen
Fu RN ITu RE Model #2420-660 King  Model #2420-600 Cal King

Examine all packaging material for small parts that may have come loose during shipment. Periodic checks are recommended to insure that all components are
in proper position, tight and free from damage. Keep this assembly instruction for future reference. Adult assembly is required. The product of Bob’s Discount Furniture
is designed for residential use only.

(CODE Qry HARDWARE ) (CODE Qry COMPONENTS CODE | QtY COMPONENTS
1 8 M8*40 Bolts @)»})})})})})})})})})})})})})) A 1 Headboard B 2 Side Panels >
2 4 M8*57 Bolts
3 4 | Ms*65Bolts @I &
4 18 M8 Spring Washers @ C 1 Footboard D 2 Headboard Feet
5 18 | M8 Flat Washers
6 1 5# Allen Wrench Sgs L
7 2 Nuts E 2 Footboard Feet
8 1 14# Open Wrench (//j;/
L 9 2 M8 Flat Washers big diameter L )

A WARNING

¢ Do not let any sharp objects touch or rub the surface of
the product.

e When assembling, do not let children play around the
working area.

e Please confirm all parts are correct before starting the
assembly process.

¢ Do not tighten all bolts and screws completely until the
entire unit has been assembled and set up.

e Be careful if using power tools as they can over tighten
screws and strip threads.

J

CARE & MAINTENANCE: The touch of a soft cloth is all the maintenance the finish will ever need. Please do not use harsh or abrasive cleaners for polishing, as they may
cause damage to the finish. Periodic checks are recommended to make sure that all hardware is securely tightened.


hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp


A Copenhagen Upholstered Headboard & Footboard "< T 277023
HILLSDALE Model #2420-330 Twin ¢ Model #2420-460 Full e Model #2420-500 Queen
FURNITURE Model #2420-660 King * Model #2420-600 Cal King

STEP 1 - Figure 1

Begin assembly by attaching Side Panels (B) to Headboard (A) using 2 Allen Bolts (2),
2 Spring Washers (4) and 2 Flat Washers (5) on each side from the back.

STEP 2 - Figure 1
Attach Headboard Feet (D) to Headboard (A) by screwing tightly into place.

@, O {1 N
e N7 O FIGURE 1
= 2 5 X g =
4 ,
FIGURE 2 3 %

STEP 3 - Figure 2
Attach Side Panels (B) from Headboard (A) to Side Rails using 2 Bolts (1), 2
Spring Washers (4) and 2 Flat Washers (5) onto each side. Then secure

wood ledge to Side Rails using 1 Allen Bolt (3), 1 Spring Washer (4) and 1
Flat Washer (5) per side.

CARE & MAINTENANCE: The touch of a soft cloth is all the maintenance the finish will ever need. Please do not use harsh or abrasive cleaners for polishing, as they may
cause damage to the finish. Periodic checks are recommended to make sure that all hardware is securely tightened.



B Copenhagen Upholstered Headboard & Footboard  °* 27705
HILLSDALE Model #2420-330 Twin ¢ Model #2420-460 Full * Model #2420-500 Queen
FURNITURE Model #2420-660 King * Model #2420-600 Cal King

STEP 4 - Figure 3

Attach Footboard Feet (E) to Footboard (C) by insertng through hole in bottom and securing from
inside window with 1 big Flat Washer (9), 1 Spring Washer (4), and 1 Nut (7) per foot.

Tighten nut with Open Wrench (8).
FIGURE 3 G '
Q

STEP 5 - Figure 4
Attach Footboard (C) to Side Rails
using 2 Bolts (1), 2 Spring Washers (4)
and 2 Flat Washers (5) onto each side.
Then secure wood ledge to Side Rails

& using 1 Allen Bolt (3), 1 Spring Washer (4)
and 1 Flat Washer (5) per side. Tighten all

~ bolts with Allen Wrench (6) provided.

FIGURE 4

Sold separately.

[Side Rails ¥ not included.j

CARE & MAINTENANCE: The touch of a soft cloth is all the maintenance the finish will ever need. Please do not use harsh or abrasive cleaners for polishing, as they may
cause damage to the finish. Periodic checks are recommended to make sure that all hardware is securely tightened.



BOB'S Copenhagen Uph Rails & Slats Full Date: O S o]

DISCOUNT 103723-113588

FURNITURE

Examine all packaging material for small parts that may have come loose during shipment. Periodic checks are recommended to insure that all components are
in proper position, tight and free from damage. Keep this assembly instruction for future reference. Adult assembly is required. The product of Bob’s Discount Furniture
is designed for residential use only. HDFBP

(CODE Qry HARDWARE w (CODE Qry COMPONENTS CODE | Q1Y COMPONENTS w

L 1 6 4*30 Screws %mm» J A 2 | side Rails B 3 | Slats

A WARNING

¢ Do not let any sharp objects touch or rub the surface of
the product.

e When assembling, do not let children play around the
working area.

e Please confirm all parts are correct before starting the
assembly process.

¢ Do not tighten all bolts and screws completely until the
entire unit has been assembled and set up.

* Be careful if using power tools as they can over tighten STEP 1 - Figure 1
screws and strip threads.

) Begin assembly by attaching Slats (B) to
Side Rails (A) using 1 Screw (1) per side.
Tighten screws with Philips head
screwdriver (not included).

o ﬁ FIGURE 1

CARE & MAINTENANCE: The touch of a soft cloth is all the maintenance the finish will ever need. Please do not use harsh or abrasive cleaners for polishing, as they may
cause damage to the finish. Periodic checks are recommended to make sure that all hardware is securely tightened.


hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp

hsorrentino
Stamp


&WARNING: To avoid serious personal injury:

e (Carefully and strictly follow assembly instructions. Improper assembly of

furniture can result in structural failure, instability of the product, or tip-over.

* Monitor and carefully control the assembly components. These include small
parts and hardware that may present a choking hazard to small children.
Bob's furniture should be assembled only by responsible adults and children

should not be involved in the assembly process.

* Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor furniture to wall. Proper use of the
wall mounting hardware can significantly reduce the potential for furniture

tip-over and crushing injuries.




	Blank Page



